06.12.2024, 17.56 Printvenlig version

Exam 01003 ReF24

Der anvendes en scoringsalgoritme, som er baseret pa "One best answer"

Dette betyder folgende:

Der er altid netop ét svar som er mere rigtigt end de andre
Studerende kan kun vaelge ét svar per spargsmal

Hvert rigtigt svar giver 1 point

Hvert forkert svar giver 0 point (der benyttes IKKE negative point)

The following approach to scoring responses is implemented and is based on "One best answer"

There is always only one correct answer - a response that is more correct than the rest

Students are only able to select one answer per question

Every correct answer corresponds to 1 point

Every incorrect answer corresponds to 0 points (incorrect answers do not result in subtraction of points)
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A set consists of the following two vectors in R3:

2 —2

Which of the below vectors must be added to the set such that it spans all of R3?

Veelg en svarmulighed

O o
4
| 8

O [4]
0
[ 0]

X [v
2
[ 3]

(O Thereis no vector among the answer options that fulfills the requirement!

O 7
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We are given the matrices A, C € R**2:

A:[l 2]andC:[4 _4].
0 —4 6

Which of the below B matrices is a solution to the matrix equation A - B = C?

Veelg en svarmulighed

(O No such matrix exists among the answer options!

Op_[0 -2
2 3
Og_[1 -2
| -2 -3
Opg_J[t 2
2 -3
X, [0
2 -3
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We are given the matrix:

1 -1 2
A=k 0 3| R
2 1 0

For which value of k € R is the determinant of the matrix equal to zero (

det(A) = 0)?

Veelg en svarmulighed

(O The wanted value does not exist among the answer options

O k=12
O k=-12
O k=2
Y
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A second-degree polynomial with real coefficients is given:
p(z) =az’ —bz+c , 2€C.

We are informed that the polynomial has the root z5 = 1 — 22. Furthermore, we are
informed that p(0) = 10.

Which of the below answer options states the polynomial p ?

vaelg en svarmulighed
yp(z) =222 —42+10
O p(z) =22 —22+5
O p(z) = —22% +42-10
O p(z)=—2*+42+5

(O None of the answer options state a polynomial that fulfills the requirements!
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—2
2 —1
Let A = [5 0 32] be a matrixandletb = | —1 | be a column vector.
3

Which of the below column vectors states the result of the matrix product A - b ?

Veelg en svarmulighed

K] 5]

| —16
O,_|[¢ ]
| 16
(O Theresult of the matrix product does not exist among the answer options!
O —14
x=1 —1
| 3
O [ —14]
X = 1
| 3
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A real system of differential equations is given by

0] [10]

We are informed that the general solution to the system is given by:

[2221 — [2] e +ky [_11] e, t,ki, ks €R.

Which of the below options states an eigenvalue with associated eigenvector of the
matrix A ?

Veelg en svarmulighed

A=—1land v = 2}

—2

5
O A=—2and v= ]

| 2
(O None of the answer options states an eigenvalue with associated eigenvector with the wanted

properties!

[ —2
O A=—2and v = ]

| 5

(1
O A=—land v= 1]
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Let A € R3*3 be a matrix given by:

1 2 1
A=1-1 2 1
0 8 4

Let L : R? — R3 bealinear map givenby: L5 (v) = Av.

Which of the below options states the kernel of the map L 5 ?

Veelg en svarmulighed
O 0
ker(L,) =span(|1|)
2

(O None of the above answer options state the kernel of L .

0
ker(Lp) =span(| —1|)

[ 2

O [0

ker(Lp) =span(| 0 ()

0

O B
ker(Lp) = span(| —1|)

2
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